X 5 102960
o= i3-1

LR E

WP RBI AR

# IR - +

TR 2] o
Wi R OF R TI TR

O3 )AL > (EE PR AT A ¥R R RITA B asds b o AR ITE > 233040 o
SEE SR It S RS T AR A S

- ~OERPIEFRBET 0 = & 3 2B £ (Trigonometric leveling) v & # 3
2R £ (Directleveling > ~ f-k B &RPIE) L 2E* ? (54)
O F kEREE? EH 2 H 2 LR > T F RERE @ 5ARE R
oy 7R iREE? (10 &)
EFhee ¥ i * 4y BRI AP ORER R (TR R BARPIE 0 ¢ AT Bl
o ALZE B 35.0 & & > w43 B 45.0 o~ & > A 5% 47 120.205 = = ;%—
FBi#sis 20292 (104)




& 58 02960
)

COSFRPIEERF - BRI EE TS SARIZET Y -;ﬁ"*,ff'i
ik EEL? (54)

(ﬂ%W? FRPEERE > BRRE- BRlw (¢ 32
L3 REZEELAHAPIESBRY > A &R

] 1"? (54 )

@#?ﬁ@ﬁﬂ;ﬂmwrimﬁéﬁﬁ A FFRENERRE T i
f:’ 7‘1{""" il ‘?FF FLFW (SI”\>

MG RT 7ie 3L B ? (54 )

@)-RT ERIEERY H &R RIY > o™ oGt R kKT RS 507
(5%)

I & 422t A | 0°0'0"

T4 * 8L B | 214°3524"

34 A* 2L A | 179°59'52"
£z

)4

gL B | 34°3528"

2 OFE TR EY TR i”:}p % pEEsE £ | (User Equivalent Range

Error, i§ £ UERE) ehz & 2 #® ? (54 )

D&M FI#E—?/EJ&E’#—%‘LJ ) TR e BUg R g PR 9 3R
2 o (54)

@tk TRl E ¢ o # & 13 71+ (Dilution of Precision, f £ DOP)
EEKEP? (54)

()& % i< rff%)i%ﬁﬁ FlF TR nE N g PR PRt 2 o (104 )



& 5 : 02960
F = :3-3

v~ - A SRR A B EF G e 4rgho AB 2 2 £=100°00" 0 EF 3 i
£ =100°00" > B gk 4% & { # A& 4%, %k #%}={100.000, 0.000} = = - E 2
Bl i {4 B, % %}={198.500, -17.400} = = - BC=99.960 = = >
CD=100.020 = & > DE=99.945 = ¢ » & B 4c ™ 4 !

i B )id L 1
1 270 O 15
2l 89 59 48
3 90 0 0
4, 270 o 12

HE

OBRPFELLSH? (B4)

(D) t52 BC,CD,DE = =& 5 5 "R A#? (54)

ORIEF & LHGGEF L4 W5 522 ? (54)

@FE &5 5272 (54)

@R FEielr B EGEer £ B R o 5 CBL2? D BEAK S
5592 (54)



